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TR24F2ARBRH®
()%  ([#HEH| B S E BT (X) £ HEH| B S E BT (X) £ HEH| B S i BT (X) £ HEH| B S E BT (X) £ HEH| B S E

=L 47 61 65 126 |/K SHET 151 226 266 492 (A1 X 296 365 392 757 | =EET 64 108 113 221 (REHET 90 127 144 27
th T 30 38 44 82 R SHT 221 337 293 630 [Fi2X 285 366 391 757 | S=BAET 43 64 66 130 | R BHT 47 73 89 162
$BAET 44 51 54 105 | L& EHAT 95 144 177 321 (3K 47 51 54 105 [#8 MEr 33 53 54 107 [R5 ET{RET 35 69 74 143
T HT 84 107 103 210 |#8KHT 24 49 39 88 |t AT 530 748 804 | 1552 |[4BIEFHT 20 43 45 88 |fHIgs AT 14 28 32 60
FEHTET 89 112 128 240 (ZFHHHET 26 35 39 74 | EARHT 69 114 105 219 |¥5TUET 79 118 112 230 (L S HEHHAET 18 26 22 48
REHT 46 58 63 121 | & SHET 54 87 82 169 | FrHAET 81 139 124 263 | RATHT 190 | 256 266 522 | B HHET 37 56 65 121
A EHET 263 374 | 364 738 |12 5HT 189 287 289 576 | —T B 75 98 108 206 |sZHT 52 65 61 126 |F#HRET 60 85 92 177
J\BTHET 12 16 17 33 |V ZHT 90 143 157 300 |E#EHW_-TH 98 119 150 269 | ELHET 109 130 120 250 |5 HEET 35 77 67 144
Y | AT 20 31 48 79 |JKEET 65 95 104 199 [#EH=TH 101 112 141 253 |#EsLET 426 552 542 | 1,094 [REHET 61 95 106 201
A RIET 24 36 48 84 |12 #RHET 14 24 25 49 (EHMETHE 146 187 222 409 | RS TET 51 70 81 151 |REESHET 22 38 55 93
R—HT 30 35 37 72 |BINEHR 317 433 405 838 |&EWMETH 79 17 114 231 [FrfEA X 148 196 200 396 |[A AT 39 59 72 131
BEAT 80 82 94 176 [{28®mE—TH 192 260 | 267 527 |REER 43 62 50 112 [EEME 123 171 162 333 [BEARHET 34 55 55 110
R=&HET 26 28 36 64 [f2BAERX 60 96 106 202 [#FR—TH 149 225 243 468 |FEIEMX 152 202 223 425 ILB&E—TH 59 73 92 165
EVACESS 451 553 601 1,154 [B)IIHX F 1498 | 2216 | 2249 | 4465 [HEH=TH 185 264 283 547 |{BMETRX 74 102 101 203 |LULBAZ=TH 88 131 134 265
[iPAVESFS 99 124 141 265 |THAEFHT 89 126 126 252 |HIR=TH 155 229 233 462 |=sEHT 135 177 180 357 |lUBA=TH 88 129 134 263
[GIAVESES 232 317 321 638 |7 ERHAEFET 64 102 91 193 | TH 128 213 219 432 |FEEE—TH 56 78 69 147 [lLEEEmTH 136 125 165 290
NVES ) 201 224 245 469 |/\ LHT 21 36 36 72 |RE—TH 151 197 202 399 |BEEZTH 114 147 171 318 |LBEATH 89 142 149 291
$rEET 454 685 724 | 1,409 | EAHETHET 61 87 96 183 [RE=TH 198 292 321 613 |EEAT 91 140 123 263 |LULBAATH 109 174 162 336
X HT 17 22 21 43 | EFET 69 98 88 186 |t Ak ET 95 113 130 243 (hEMX 5t 1,960 | 2672 | 2689 | 5361 [lUSHX 5t 1,061 | 1,562 | 1,709 3,271
T 13 11 17 28 |gHHX 5 304 | 449 437 886 [It=ETE —TH 115 176 193 369 |FHET 157 223 207 430 | FREE—TH 138 191 196 387
ERATRX 17 19 26 45 |G ILET 91 142 156 298 |dtZHETBEB _TH 134 194 225 419 [ E=O#T 52 82 89 1M [FRER=-TH 96 137 115 252
SRHTHT 20 24 33 57 |¥AZHET 139 200 [ 229 429 (B 5t 3160 | 4381 | 4704| 9,085 |45 ERT 91 127 122 249 [FREFR=TH 149 193 202 395
JBET 95 106 11 217 |ZR9ET 229 271 309 580 |t ET 194 275 323 598 |AEHET 192 307 321 628 | FRERTTH 161 221 233 454
HEARET 541 749 744 | 1,493 |dL SHT 65 96 116 212 [EEINX 90 123 135 258 |45 stLET 31 59 60 19 [FRERETH 127 175 181 356
KRR 100 112 118 230 |BAI3RFE S BT 16 23 21 44 [FRAE)IIR 57 77 100 177 |Z BT 80 115 134 249 [FREFEATH 158 240 250 490
deEAR2X 194 | 250 | 274 524 | K SLET 24 42 40 82 |iEHEJIIX 43 71 77 148 | &I ET 118 176 177 353 | FREFFE—TH 125 164 172 336
JEHEARIX 62 61 76 137 [L%RME 67 70 91 161 |#8)11rET 17 175 192 367 |EIKET 53 92 95 187 [FREBB -_TH 138 190 179 369
R4 186 284 | 262 546 |EMH—TH 134 | 206 215 421 |+ Hgmy 18 33 43 76 | EH R T 16 24 31 55 | FREAB=THE 130 184 190 374
JEHEARER 318 419 433 852 | &t 765 | 1,050 | 1,177 | 2,227 [#HFHHX 5t 519 754 870 | 1,624 (AT (EF—TH 89 132 129 261 [FHREFEMNTH 100 130 145 275
JtEAR6X 183 238 | 234 472 | E{RET 120 169 207 376 = KHET 411 614 584 | 1,198 [#FFE=TH 55 82 70 152 | FREBHETH 135 168 167 335
EXTBE=TH 148 182 177 359 | EAIRER 9 13 15 28 | & K T 350 510 534 | 1,044 [AFFEF=TH 66 93 102 195 [FREFBEATHE 134 184 197 381
FE—TH 82 105 101 206 |[BHAK 9 16 17 33 |4E1LET 43 69 79 148 |#FZFWTEH 99 140 135 275 | FREFELTH 177 243 267 510
EE_TH 95 121 141 262 |BEHX 9 13 13 26 =K HHET 60 90 104 194 (AT (FERTH 64 95 95 190 | FHREFBE/NTH 117 144 157 301
EFB=TH 90 108 127 235 [sEALET 4 56 71 127 |RERRET 37 59 54 13 [#F(EARTH 67 85 88 173 | FREE—TH 104 155 154 309
fm—TH 97 112 121 233 [ ERET 19 30 27 57 |/\EH R BT 47 76 81 157 |#&E—TH 93 142 131 273 | FREE_-TH 148 222 220 442
AH_TH 116 148 193 341 [/71ET 39 53 71 124 |/\EHET 117 186 199 385 [BEE=TH 55 75 82 157 | FHRE X 5t | 2,137 [ 2941 | 3,025 5,966
BH—TH 72 85 100 185 [L/IN)IIET 37 43 65 108 | —iRHET 60 70 83 153 [MdtiX 5t 1,378 | 2,049 | 2,068 | 4,117 [4HHT 109 141 155 296
EB-TH 112 158 142 300 | E#EHT 31 40 49 89 | B ERET 153 221 242 463 |1&;THT 360 517 501 1,018 |ERFAHET 95 117 131 248
#E—TH 123 140 155 295 | = {RHTHET 100 165 165 330 [REARMTR 340 515 491 1,006 |FHIEHET 101 163 163 326 |FHAAAT 90 127 121 248
XEB-TH 89 143 139 282 [BEHBK 79 107 109 216 [hEXRTR 162 228 238 466 |E1E AT 316 429 392 821 |&H—TH 102 129 125 254
RE—TH 150 187 195 382 | = [RHAT 64 99 89 188 A& X 112 159 149 308 |FAFHET 338 508 476 984 | _TH 7 84 88 172
KEZTH 55 58 70 128 |SRMIX § 557 804 898 | 1,702 [—EZFH KX 199 295 259 554 | Bt 1115 | 1,617 | 1532 | 3,149 [F@#H=TH 65 96 95 191
B —TH 64 72 78 150 | & H.ET 127 213 215 428 [HSVEHE—TAH 71 98 100 198 IR EFHT 69 105 92 197
5% -TH 53 64 80 144 | 5K BT 86 129 150 279 [HEVHEIE=TAH| 110 144 150 294 IR EFET 89 122 114 236
#H=TH 17 29 28 57 |MAmIRR 115 151 188 339 [HTVHEE=TAH 77 100 103 203 EEEPN ) 78 101 98 199
BX—TH 119 178 194 372 [(HHER—TH 147 126 187 313 |HSVHEEMTH| 119 175 157 332 mERH—TH 63 85 91 176
BR=TH 6 8 8 16 [FHER=-TH 60 77 78 155 [/\EHEX 82 120 131 251 ESie 62 60 79 139
AXETH 95 114 136 250 |KRAFHR 76 11 120 231 (1Bt 5t 2550 | 3729 | 3738 7467 NIEBEFX &t 893 | 1,167 | 1,189 2,356
BEHXATH 50 67 73 140 |#FHILX 123 180 181 361

BEXtTH 108 128 151 279 [FFBHHK 46 66 77 143 MEHIE 3§ 24,728 | 34,348 | 35871 | 70,219
BRNTH 93 135 148 283 | FHAEMX 42 63 54 17

BRAATH 1 1 4 5 | M HmEX 187 261 284 545

BX+TH 9 10 9 19 |—AHX F 1,009 | 1,377 | 1534 | 2,911

MEX 5t | 5822 | 7,580 | 8052 | 15,632




BINEBWHHERIADE®ER

TR24F2A RKBRE
BT (X) 4 HEKR| B X g BT (X) 4 HEH| B = g BT (X) 4 HEHR| 5 X &t BT (X) 4 HER| B = g BT (X) 4 HEH| 5B X h

=) BT 37 42 47 89 |/\HEHET 145 182 202 384 3R RHET 114 159 177 336 [ATRBTEE 43 68 88 156 | [ #ERT 45 71 77 148
EJNELap 146 225 243 468 | == HT 50 76 83 159 | IR R BT 223 272 301 573 |FAIAETLE 38 46 51 97 |AAAREFET 22 36 44 80
=) ETEE 36 52 55 107 (B LIET 202 306 338 644 |EAFET 205 336 354 690 |;AI N ET4ERE 106 150 176 326 |773— LBtk 28 48 44 92
=) RETER 115 145 175 320 (R EBHT 51 86 85 171 |BA%k—T8H 100 152 153 305 [(AIRETEYDE 54 75 79 154 | & HT 62 88 115 203
EJNEd:r:i) 32 47 51 98 |®5 3 LLET 47 80 72 152 |35 HET 41 63 60 123 A RET S AR 56 81 72 153 | & RHET 40 49 46 95
EJIIE4:E 38 43 50 93 |— /=X 5t 495 730 780 | 1,510 |RE&ELFHET 36 67 67 134 [(AINET O EE 16 26 27 53 | T EFHET 44 80 81 161
EJIIEI i) 44 54 62 116 |ERR S BT 113 116 114 230 |FEHT 56 85 86 171 [(AIRETREE 3 2 6 8 | LZ7HT 99 168 179 347
EJNEaES 35 43 47 90 | %8Sk HTHET 93 127 133 260 | EAT 148 229 236 465 3R] PRETELjth 6 5 7 12 = 3RET 32 51 55 106
EJNER:r 58 70 77 147 |BBRABT—TH 31 43 48 91 |BkmTH 176 258 268 526 | RETAIR 21 32 44 76 | FTHE 25 24 35 59
EJLIF RS 29 32 41 73 |ESEAKRETZTH 31 41 47 88 [BAX=TH 114 138 148 286 |;AINETR £ 9 9 11 20 (L& 18 29 30 59
EJNE i) 37 31 47 78 |EEEARET=TH 40 63 73 136 |£15FHET 107 159 166 325 [AINETHR 16 19 16 35 (BI=HET 61 84 99 183
EJNEA S 151 190 218 408 (EBRAETMT B 191 265 269 534 | & AHET 150 230 241 471 | RET R 5 4 4 8 B HilT 16 28 29 57
EJNE:E S 46 47 57 104 |#53k5H A BT 156 180 | 224 404 |BAETET 94 157 157 314 A RET TR 4 2 2 4 42 7RET 52 52 49 101
EJNECES 72 104 105 209 |#&kEIRET 112 144 150 294 | BAETHTAT 79 100 108 208 | NETAE 19 22 21 43 |8 FFIKET 27 36 43 79
EJNP o) 84 95 123 218 Bk L BRHAT 38 42 48 90 [EBAEHET 85 111 106 217 ORI 5t 396 541 604 | 1,145 |EEmET 18 21 27 48
=)IERTER 100 137 135 272 |EBR T HRAET 31 35 42 77 | E ST 311 444 427 871 [F&HEH 63 88 98 186 |Zc FET 15 15 13 28
EJNEIN:r] 39 50 59 109 (#&k B 34 51 49 100 |#7ER A &Y 32 48 39 87 L 5E 98 106 141 247 | =V HEHT 5 1 4 5
EJNEIN:ED 85 88 98 186 |#5 3k %0 =FET 176 219 251 470 [Pt 5t 2071 | 3008 | 3094| 6,102 [BkEDHE 55 82 75 157 |$h3aRT 3 3 2 5
=) FKRTEE 189 266 277 543 |EBRTEET 77 97 119 216 | B FIAT 173 258 288 546 [{£R 17 36 37 73 (BRI FHT 11 10 11 21
=) FNRETR 197 256 279 535 |#B 3k /K F HT 31 34 43 77 |FOET 123 184 208 392 | KPR 17 1 16 17 |E+5H8 - - - -
E)|IthX 5t | 1570 | 2,017 2,246 | 4,263 |EEEKE AT 202 262 275 537 | KArHET 59 85 90 175 | % 39 32 44 76 |HRET 2 2 - 2
REAT 272 366 425 791 |E8k K ETHET 60 105 101 206 |BA:LEET 19 26 31 57 |[#E 37 61 52 113 | B Ey 1 - 1 1
FHRET 247 320 342 662 |EEEKFHETZT 7 10 11 21 |{THT 51 84 89 173 | F K& 24 43 41 84 (+HEHT 24 33 49 82
FBEHET 37 55 59 114 (#8RKFRT=T 58 85 103 188 |/ ERET 42 69 78 147 | E KRB 27 39 36 75 | &FKHET 43 54 63 117
RIEHET 39 67 64 131 (#BR/KFETE T 29 37 38 75 |REFHT 62 82 71 153 | RiB%H 11 17 16 33 [FERHET 61 91 103 194
TR S ET 141 236 223 459 |48k A SHET 29 37 51 88 |t IRHET 51 74 84 158 e 51 50 60 110 | E B AHT 44 58 70 128
ESE 250 356 392 748 |ESSRIIX Bt 1,539 | 1,993 | 2,189 | 4,182 [4EAKHET 22 31 35 66 |SHSMIE 5| 439 555 616 | 1,171 |FE{£RHET 34 60 51 11
S jth BT Al 110 118 228 | A1SHT 235 346 376 722 | BRI 293 395 429 824 =VERHE 55 92 11 203
Ry il g 244 | 324 356 680 |/INNET 180 | 248 269 517 |t REET 151 213 227 440 SR LT 46 70 80 150
EEET 300 | 423 454 877 |BA=TH 154 | 212 202 414 |EEE R B 0T 200 285 286 571 UIN:iloa i) 5 5 6 1
BESHET 17 18 25 43 /NIRRT 82 113 127 240 |RAAFTET 149 226 213 439 T4SEE 18 24 18 42
EBFHE 130 225 220 445 | B {HFHT 233 352 369 721 | /4R ET 10 20 14 34 SHtiE § 956 | 1,383 | 1,535 2,918
EBTHR 114 184 199 383 |BABHETIL/E 43 54 64 118 |F O FHHET 52 83 93 176 B 62 70 81 151
BEEFEh 118 199 187 386 |BAEHETE /A 21 32 34 66 |LEAETAT 130 203 199 402 =8 7 7 4 11
IREX § 1,980 | 2,883 | 3064 | 5947 [EAEETHAT 50 77 79 156 |EEXBMIX 5 1,587 | 2,318 | 2435| 4,753 BR 79 95 119 214
EET1X 54 78 75 153 |B S ETEE /&% 34 53 57 110 xR 34 29 50 79
EE2X 47 56 81 137 |&/ KRFHHET 26 39 37 76 |ESSRithi, 5 7,781 | 11,106 | 11,555 [ 22,661 B®=0O 24 22 23 45
EET3X 42 55 61 116 |BAESHET 83 141 129 270 fiy) 8 7 6 13
EET4RX 47 54 77 131 | L& EHT 51 78 74 152 BN 1 2 1 3
EESX 121 155 170 325 [T ST 74 108 105 213 HERFX 25 35 36 A
EET6X 134 177 183 360 |FREEHET 167 252 224 476 EOi#his 5t 240 267 320 587
EET7 X 36 60 51 1M1 |HRSEHET 217 324 301 625 =13 276 375 381 756
RET8X 89 103 117 220 |ERFFSHET 243 325 319 644 3] 88 114 111 225
RETOX 108 126 134 260 |4t 7% SHET 122 172 174 346 THER - - - -
EBT10K 228 299 321 620 | 7R SET 23 33 31 64 Bughis 5t 364 489 492 981
EET11R 26 41 32 73 | SHET 51 98 86 184

EET12K 129 224 202 426 | & 2,089 [ 3,057 | 3057 | 6,114

EMIX 5t 1,061 | 1,428 [ 1,504 | 2,932 &8 &t 39,515 | 55,017 | 57,807 | 112,824
=)|I#bts, 5t | 4611 | 6328 | 6814 13142




